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INTERMEDIATE EXAMINATION – 2022 (ANNUAL) 

I. A.  

Economics (Elective)

Total No. of questions : 100+30+8=138

Instructions for the candidates :- 

1- ijh{kkFkhZ mÙkj&i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet.  

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- bl iz’u i= dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 minutes of additional time has been allotted for the candidates 

to read the question paper carefully. 

5- ;g iz’u&i= nks [k.Mksa esa gS %  ,oa  

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 100 
iw.kkZad & 100 

326 
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This question paper has two sections : Section-A and Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 50 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 50 dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk;s x, OMR mÙkj i=d esa fn, x, lgh fodYi dks uhys @ dkys ckWy 

isu ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj @ rjy inkFkZ @ CysM @ 

uk[kwu vkfn dk OMR mÙkj i=d esa iz;ksx djuk euk gS( vU;Fkk ifj.kke 

vekU; gksxkA 

In Section-A, there are 100 objective type questions, out of which 

any 50 questions are to be answered. If more than 50 questions 

are answered, then only first 50 will be evaluated. Each question 

carries 1 mark. Darken the circle with blue / black ball pen against 

the correct option on the OMR Answer Sheet provided to you. Do 

not use Whitener / liquid / blade / nail etc on OMR Answer Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 30 y?kq mÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa 

ls fdUgha 15 iz’uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 8 

nh?kZ mÙkjh; iz’u fn, x, gSaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSa] ftuesa ls 

fdUgha 4 iz’uksa dk mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 30 Short answer type questions. Each 

carries 2 marks, out of which any 15 questions are to be 

answered. Apart from this there are 8 Long answer type  
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questions. Each question carries 5 marks, out of which any 4 

questions are to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any type of electronic appliance is strictly prohibited.

 Section-A 

Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gSA vius 

}kjk pqus x;s lgh fodYi dks OMR&mÙkj iqfLrdk ij fpfUgr djsaA 100 iz’uksa esa ls fdUgha 

50 iz’uksa dk gh mÙkj nsuk gSA       (50x1=50) 

Question No.- 1 to 100 have four options, out of which only one is correct. 

You have to mark your selected option on the OMR-Answer Sheet. Out of 

100 questions any 50 questions are to be answered.  (50x1=50) 

1- ^le lhekUr mi;ksfxrk fu;e* dks fdl uke ls tkuk tkrk gS\ 

(A) izfrLFkkiu dk fu;e   (B) xkslu dk nwljk fu;e 

(C) vf/kdre larqf"V dk fu;e  (D) buesa ls lHkh 

“The Law of Equimarginal Utitlity” is known by which name? 

(A) Law of Substitution   (B) Second Law of Gossen 

(C) Law of Maximum Satisfaction (D) All of these 

2- vk/kqfud vFkZ’kkfL=;ksa us ^volj&ykxr vo/kkj.kk* dk iz;ksx fuEu esa ls fdlds 

cnys fd;k \ 

(A) vkxe     (B) ykxr 

(C) (A) vkSj (B) nksuksa    (D) buesa ls dksbZ ugha 
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Modern Economists applied the concept of ‘Opportunity Cost’ in 

place of which of these ? 

(A) Revenue     (B) Cost 

(C) (A) and (B) both   (D) None of these 

3- nh?kZdkyhu mRiknu&Qyu dk laca/k gS & 

(A) iSekus ds izfrQy ls   (B) mRifÙk gzkl fu;e ls 

(C) ifjorZu’khy vuqikrksa ds fu;e ls (D) buesa ls dksbZ ugha 

Long-run Production Function is related to – 

(A) Returns to scale   (B) Law of Diminishing Return 

(C) Law of Variable Proportions (D) None of these 

4- fuEufyf[kr esa ls D;k lw{e vFkZ’kkL= ls lacaf/kr gS \ 

(A) mRiknu Qyu    (B) forj.k 

(C) ewY; fu/kkZj.k    (D) mi;qZDr lHkh 

Which of the following is concerned with Microeconomics ? 

(A) Production-Function   (B) Distribution 

(C) Price Determination   (D) All the above 

5- iwfrZ oØ dh <ky gksrh gS & 

(A) /kukRed     (B) _.kkRed  

(C) (A) vkSj (B) nksuksa    (D) buesa dksbZ ugha 

The slope of supply curve is – 

(A) Positive     (B) Negative 
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(C) (A) and (B) both   (D) None of these 

6- fuEukafdr esa ls fdl cktkj esa QesZa Lora= :i ls ewY; fu/kkZfjr ugha dj 

ldrh\ 

(A) ,dkf/kdkjh     (B) iw.kZ izfr;ksxrk 

(C) viw.kZ izfr;ksfxrk    (D) vYikf/kdkj 

In which of the following markets firm can’t determine price 

independently ? 

(A) Monopoly    (B) Perfect-Competition 

(C) Imperfect Competition  (D) Oligopoly 

7- cktkj ewY; lkE; ewY; ls & 

(A) vf/kd gksrk gS    (B) de gksrk gS 

(C) cjkcj gksrk gS    (D) buesa ls lHkh 

Market price is -   

(A) more than equilibrium price (B) less than equilibrium price 

(C) equal to equilibrium price  (D) All of these 

8- fdl cktkj esa oLrq,¡ ,d lh dher ij csph tkrh gS \ 

(A) iw.kZizfr;ksfxrk    (B) viw.kZ izfr;ksfxrk 

(C) ,dkf/kdkj     (D) buesa ls lHkh  

In which market commodities are sold at the same price ? 

(A) Perfect Competition   (B) Imperfect Competition 

(C) Monopoly    (D) All of these 
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9- fuEukafdr esa ls dkSu vFkZO;oLFkk dh dsUnzh; leL;k gS \ 

(A) D;k mRiknu fd;k tk;    

(B) dSls mRiknu fd;k tk; 

(C) mRikfnr oLrqvksa dk vFkZO;oLFkk esa forj.k dSls fd;k tk; 

(D) mi;qZDr lHkh 

Which of the following is central problem of the economy ? 

(A) What to produce    

(B) How to produce 

(C) How to distribute produced goods in the economy 

(D) All the above 

10- fdl lk/ku esa vYidky esa dksbZ ifjorZu ugha gksrk \ 

(A) ekuo lk/ku    (B) HkkSfrd lk/ku 

(C) fLFkj lk/ku    (D) ifjorhZ lk/ku 

In which factor there is no change in the short period ? 

(A) Human factor    (B) Physical factor 

(C) Fixed Factor    (D) Variable factor 

11- fuEufyf[kr esa ls dkSu mRifÙk dk lk/ku ugha gS \ 

(A) Hkwfe      (B) Je 

(C) eqnzk      (D) iwath 

Which of the following is not a factor of production ? 

(A) Land     (B) Labour 



7 
 

(C) Money     (D) Capital 

12- fuEukafdr esa ls dkSu ekax dh yksp ekius dh fof/k gS \ 

(A) dqy O;; iz.kkyh    (B) fcUnq iz.kkyh 

(C) izfr’kr ;k vkuqikfrd fof/k  (D) buesa ls lHkh 

Which of the following is the method of measurement of Elasticity 

of Demand ? 

(A) Total outlay method    

(B) Point method 

(C) Percentage or Proportionate method 

(D) All of these 

13- fuEu esa ls fdlus vFkZ’kkL= dh fodkl tfur ifjHkk"kk izLrqr dh \ 

(A) ek’kZy     (B) ihxw 

(C) lsE;qylu     (D) jkWfcUl 

Out of the following who presented the development-oriented 

definition of Economics ? 

(A) Marshall     (B) Pigou 

(C) Samuelson    (D) Robbins 

14- ^^vFkZ’kkL= /ku dk foKku gS** fdlus dgk \ 

(A) ek’kZy     (B) lsE;qylu 

(C) jkWfcUl     (D) ,Me fLeFk 

“Economics is the Science of Wealth”, Who said ? 
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(A) Marshal     (B) Samuelson 

(C) Robbins     (D) Adam Smith 

15- fuEufyf[kr esa ls dkSu dk;Z dsUnzh; cSad dk ugha gS \ 

(A) lk[k fu;a=.k    (B) lk[k l`tu 

(C) ljdkjh cSadj    (D) uksVksa dk fuxZeu 

Which of the following function is not concerned with the Central 

Bank ? 

(A) Credit Control    (B) Credit Creation 

(C) Government Banker   (D) Note-Issue 

16- fuEukafdr esa ls dkSu Hkkjr dk dsUnzh; cSad gS \ 

(A) LVsV cSad vkWQ bf.M;k   (B) lsUVªy cSad vkWQ bf.M;k 

(C) cSad vkWQ bf.M;k    (D) Hkkjrh; fjtoZ cSad 

Which of the following is Central Bank in India ? 

(A) Sate Bank of India 

(B) Central Bank of India 

(C) Bank of India  

(D) Reserve Bank of India 

17- Hkkjr esa fdlus 2000 :Ik;s ds uksV dk fuxZeu fd;k gS \ 

(A) Hkkjr ljdkj dk foÙk foHkkx  (B) Hkkjrh; fjtoZ cSad 

(C) LVsV cSad vkWQ bf.M;k   (C) buesa ls dksbZ ugha 

In India who has issued the Notes of Rs. 2000 ? 
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(A) Department of Finance, Government of India 

(B) Reserve Bank of India 

(C) State Bank of India 

(D) None of these 

18- rjyrk dks"kkuqikr esa o`f) ls eqnzk dh ek=k & 

(A) fLFkj jgrh gS    (B) ?kV tkrh gS 

(C) c<+ tkrh gS    (D) buesa dksbZ ugha 

With the increase in Liquidity Reserve ratio the quantity of money- 

(A) remains constant   (B) decreases  

(C) increases     (D) None of these 

19- gzkleku iSeku ds izfrQy esa & 

(A) vkUrfjd ,oa ckg~; gkfu;k¡ izkIr gksrh gSaA 

(B) vkarfjd ,oa ckg~; ferO;f;rk,¡ ¼lqykHk½ izkIr gksrh gSaA 

(C) (A) vkSj (B) nksuksa 

(D) buesa ls dksbZ ugha 

In Diminishing Returns to scale – 

(A) Internal and External diseconomies are received  

(B) Internal and External economies are received 

(C) (A) and (B) both 

(D) None of these 

20- fuEufyf[kr esa ls dkSu ^^xkslsu dk izFke fu;e gS** \ 
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(A) ek¡x dk fu;e    (B) lhekUr mi;ksfxrk gzkl fu;e 

(C) le&lhekUr mi;ksfxrk fu;e  (D) Øekxr mRifÙk lerk fu;e 

Which of the following is “First Law of Gossen” ? 

A. Law of Demand 

B. Law of Diminishing Marginal Utility 

C. Law of Equi-Marginal Utility 

D. Law of Constant Returns 

21- mRiknu laHkkouk oØ ¼PPC½ dk iz;ksx fuEu esa ls fdlds fo’ys"k.k eas gksrk gS\ 

(A) csjkstxkjh dh leL;k ,oa izkS|ksfxdh izxfr gsrq 

(B) vFkZO;oLFkk dh dsUnzh; leL;kvksa ds lek/kku gsrq 

(C) vFkZO;oLFkk ds fodkl ds fofHkUu igyqvksa ds fo’ys"k.k gsrq  

(D) buesa ls lHkh 

Production Possibility Curve (PPC) is applied in which of the 

following analysis ? 

A. for problem of unemployment and technological progress 

B. for solution of central problems of economy 

C. for analysis of various aspects of economic development of the 

economy 

D. All of these 

22- ekSfnzd ykxr esa fuEufyf[kr esa fdls lfEefyr fd;k tkrk gS \ 

(A) lkekU; ykHk    (B) O;Dr@Li"V ykxr 
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(C) vO;Dr@vLi"V ykxkr   (D) mi;qZDr lHkh 

Which of the following is included in money cost ? 

(A) Normal Profit    (B) Explicit Cost 

(C) Implicit cost    (D) All the above 

23- fuEukafdr esa dkSu lgh gS \ 

(A) dqy ykHk ¾ vkSlr ykxr ¼AC½ x dqy bdkbZ 

(B) dqy ykHk ¾ dqy vkxe ¼TR½ & dqy ykxr ¼TC½ 

(C) dqy ykHk ¾ vkSlr ykxr ¼AC½ $ vkSlr vkxe ¼AR½ 

(D) buesa lHkh  

Which of the following is correct ? 

A. Total profit = Average Cost (AC) x Total unit 

B. Total profit = Total Revenue (TR) – Total Cost (TC) 

C. Total profit = Average Cost (AC) + Average Revenue (AR) 

D. All of these  

24- iwfÙkZ oØ ds f[kldus ¼f’k¶V½ ls] 'ks"k cprk gS &  

(A) ,d gh iwfÙkZ js[kk gksrh gSA  (B) dbZ iwfÙkZ oØ gksrs gSaA 

(C) (A) vkSj (B) nksuksa    (D) buesa ls dksbZ ugha 

Due to  shift of supply curve there remains -  

(A) Only one supply curve remains  

(B) Many supply curves remain 

(C) (A) and (B) both     
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(D) None of these 

25- foØ; ykxr fdl cktkj dh fo’ks"krk gS \ 

(A) ,dkf/kdkj     (B) iw.kZ izfr;ksfxrk 

(C) ,dkf/kdkjh izfr;ksfxrk   (D) buesa ls dksbZ ugha 

Selling cost is a feature of which market ? 

(A) Monopoly    (B) Perfect Competition 

(C) Monopolistic Competition  (D) None of the these 

26- iSekus dk izfrQy y{k.k gS & 

(A) vYidkyhu mRiknu Qyu dk  (B) nh?kZdkyhu mRiknu Qyu dk 

(C) (A) vkSj (B) nksuksa    (D) buesa ls dksbZ ugha 

Returns to scale is feature of – 

(A) Short run production function  

(B) Long run production 

(C) (A) and (B) both   

(D) None of these 

27- ^^n tsujy F;ksjh vkWQ bEIyk;esUV] baVjsLV ,.M euh** ds dkSu jpf;rk gSa \ 

(A) fjdkMksZ     (B) Mksej 

(C) dhUl     (D) jkWcZV~lu 

Who is the author of “The General Theory of Employment, Interest 

and Money” ?  

(A) Ricardo     (B) Domar 
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(C) Keynes     (D) Robertson 

28- fuEu esa ls dkSu izokg pj ugha gS \ 

(A) iwath      (B) vk; 

(C) fuos’k     (D) f?klkoV 

Which of the following is not a flow variable ? 

(A) Capital     (B) Income 

(C) Investment    (D) Depreciation 

29- eSØks 'kCn fdl Hkk"kk ls lacaf/kr gS \ 

(A) xzhd      (B) ySVhu 

(C) ÝsUp     (D) buesa ls dksbZ ugha 

Macro word is related to which language ? 

(A) Greek     (B) Latin 

(C) French     (D) None of these 

30- jk"Vªh; vk; vkSj jkstxkj ds fl)kUr dk v/;;u lacaf/kr gS & 

(A) O;f"V vFkZ’kkL= ls    (B) lef"V vFkZ’kkL= ls 

(C) (A) vkSj (B) nksuksa    (D) buesa ls dksbZ ughaA 

The study of National Income and Theory of Employment is 

related to – 

(A) Micro Economics    (B) Macro Economics 

(C) (A) and (B) both   (D) None of these 

31- eSØks vFkZ’kkL= fuEukafdr esa ls fdldk v/;;u djus esa izklafxd gS & 
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(A) vkfFkZd fodkl dk   (B) dY;k.k dk 

(C) vkfFkZd rqyuk dk    (D) mi;qZDr lHkh 

Macro-Economics is relevant in study of which of the following – 

(A) Economic Development  (B) Welfare  

(C) Economic Comparision  (D) All the above 

32- cktkj&ewY; fu/kkZj.k esa fuEukafdr esa ls dkSu vge Hkwfedk fuHkkrk gS \ 

(A) ek¡x      (B) iwfrZ 

(C) ek¡x ,oa iwfrZ nksuksa    (D) buesa ls dksbZ ugha 

Which of the following plays dominant role in determination of 

market price? 

(A) Demand     (B) Supply 

(C) Demand and Supply both  (D) None of these 

33- fuEukafdr esa ls dkSu midj.k ekSfnzd uhfr ds ifjek.kkRed fu;a=.k ds midj.k 

esa ugha vkrk \ 

(A) cSad nj     (B) oS/kkfud rjyrk vuqikr 

(C) udn dks"k     (D) miHkksDrk lk[k fu;eu 

Which of the following tool of monetary policy does not come 

under the tools of quantitative control ? 

(A) Bank rate     

(B) Statutory Liquidity Ratio (SLR) 

(C) Cash Reserve Ratio    
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(D) Regulation of consumer’s credit 

34- ;fn dqy miHkksx C gks rFkk dqy vk; Y gks rks vkSlr miHkksx izo`fr (APC) 

dk eku gksxk & 

(A)       (B) 

(C)  dqy miHkksx $ dqy vk;  (D) dqy miHkksx & dqy vk; 

If total consumption is C and Total income is Y, then the value of 

APC (Average Propensity to consume) is – 

(A) 
்௢௧௔௟ ூ௡௖௢௠௘

்௢௧௔௟ ஼௢௡௦௨௠௣௧௜௢௡
     

(B) 
்௢௧௔௟ ஼௢௡௦௨௠௣௧௜௢௡

்௢௧௔௟ ூ௡௖௢௠௘
 

(C) Total Consumption + Total Income     

(D) Total Consumption – Total Income 

35- Hkqxrku larqyu dk fuEu esa ls dkSu lh fo’ks"krk gS \ 

(A) Øec) ys[kk   (B) fuf’pr le; vof/k 

(C) O;kidrk    (D) mi;qZDr lHkh 

Which one is the feature of Balance of Payment ? 

(A) Systematic Account  (B) Fixed Time Period 

(C) Comprehensiveness  (D) All the above 

36- eqnzk LQhfr dh fLFkfr esa eqnzk dh Ø;’kfDr & 

(A) c<+ tkrh gS   (B) ?kV tkrh gS 

(C) fLFkj jgrh gS   (D) buesa ls dksbZ ugha 

In case of inflation, purchasing power of money – 

dqy vk; 
dqy miHkksx 

dqy miHkksx 
dqy vk; 
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(A) Increases    (B) Decreases 

(C) Remains Constant  (D) None of these 

37- fuEukafdr esa ls fdlesa mRiknu ds lHkh lk/kuksa esa ifjoÙkZu laHko gS \ 

(A) cktkj vof/k esa   (B) vYidky esa 

(C) nh?kZdky esa    (D) buesa ls dksbZ ugha 

Under which of the following, changes in all factors of production is 

possible ? 

(A) Market period   (B) Short period 

(C) Long period   (D) None of these 

38- iSekus dk Øekxr mRifÙk o`f) fu;e rHkh ykxw gksrk gS tc & 

(A) ferO;f;rk,¡ vferO;f;rkvksa ls vf/kd gks 

(B) ferO;f;rk,¡ vkSj vferO;f;rk,¡ cjkcj gksa 

(C) vferO;f;rk,¡ ferO;f;rkvksa ls vf/kd gksa 

(D) buesa ls lHkh 

Law of Increasing Returns to scale applies only when – 

(A) economies exceeds the diseconomies 

(B) economies and diseconomies are equal 

(C) diseconomies exceed the economies 

(D) All of these 

39- fuEu esa ls fdlus Hkqxrku 'ks"k dh ifjHkk"kk nh \ 

(A) ek’kZy    (B) csUge 
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(C) dhUl    (D) dSuu 

Who among the following has defined Balance of payment ? 

(A) Marshall    (B) Benham 

(C) Keynes    (D) Cannon 

40- lsc vkSj larjk dh dher esa òf) gksus ls lsc vkSj larjk dh ek¡x esa gksus okys 

ifjorZu dks dgk tkrk gS & 

(A) foLrkj    (B) ladqpu 

(C) o`f)     (D) gzkl 

Changes in the demand of apple and orange due to increase in 

their prices is called -  

(A) Extension   (B) Contraction 

(C) Increase    (D) Decrease 

41- Mhty dh dher dh òf) ls Vªd dh ek¡x & 

(A) c<+ tkrh gS   (B) ?kV tkrh gS 

(C) fLFkj jgrh gS   (D) dksbZ ifjorZu ugha gksrk 

Due to increase in the price of Diesel the demand of Truck - 

(A) increases   (B) decreases 

(C) remains constant  (D) there is no change 

42- buesa dkSu lk dj izR;{k dj gS \ 

(A) th ,l Vh    (B) mRikn 'kqYd 

(C) lhek dj    (D) laifÙk dj 
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Which of the following tax is direct tax ? 

(A) GST    (B) Excise duty 

(C) Custom duty   (D) Property tax 

43- fuEufyf[kr esa ls dkSu dj izxfr’khy dj gS \ 

(A) vk; dj    (B) fcØh dj 

(C) jsy HkkM+k    (D) th ,l Vh 

Which of the following is progressive tax ? 

(A) Income tax   (B) Sales tax 

(C) Rail fare    (D) GST 

44- fuEufyf[kr esa ls dkSu dj jkT;ksa }kjk yxk;k tkrk gS \ 

(A) euksjatu dj   (B) LVkEi&’kqYd 

(C) Hkw jktLo    (D) mi;qZDr lHkh 

Which of the following Tax is imposed by the state government ? 

(A) Entertainment Tax  (B) Stamp Duty 

(C) Land Revenue   (D) All the above 

45- vxj lhekUr miHkksx izòfÙk ¼MPC½ dk eku 
ଵ

ସ
 gS] rks fuos’k xq.kd gksxk & 

(A) 2     (B) 3 

(C) 
ସ

ଷ
     (D) buesa ls dksbZ ugha    

If the value of Marginal Propensity to consume (MPC) is  
ଵ

ସ
  then 

Investment Multiplier is - 
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(A) 2     (B) 3 

(C) 
ସ

ଷ
       (D) None of these 

46- fuEukafdr esa ls dkSu xSj dj jktLo gS \ 

(A) ykHkka’k    (B) th ,l Vh 

(C) fuxe dj    (D) vk; dj 

Which of the following is Non-tax revenue ? 

(A) Dividend    (B) GST 

(C) Corporate Tax   (D) Income tax 

47- volj ykxr D;k gS \ 

(A) og fodYi ftldk ifjR;kx dj fn;k x;k 

(B) [kks;k gqvk volj 

(C) gLrkUrj.k vk; 

(D) buesa ls lHkh 

What is opportunity cost ? 

(A) The alternative which is foregone 

(B) The opportunity lost  

(C) Transfer Earning 

(D) All of these 

48- ;fn p ¾ oLrq dh dher vkSj d ¾ oLrq dh ek¡x gS] rks ek¡x dh yksp gS & 

(A) 
୼୮

୼ୢ
     (B) . 

%୼୮

%୼ୢ
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(C) . 
୼ୢ

௣
     (D) . 

%୼ୢ

%୼୮
 

If price of commodity is p and the demand of ommodity is d, then 

Elasticity of demand is -  

(A) 
୼୮

୼ୢ
     (B) . 

%୼୮

%୼ୢ
 

(C) . 
୼ୢ

௣
     (D) . 

%୼ୢ

%୼୮
 

49- mnklhurk oØ fo’ys"k.k fuEukafdr esa ls fdu izHkkoksa dks fo’ysf"kr djrk gS \ 

(A) dsoy dher izHkko   (B) dsoy vk;&izHkko  

(C) dsoy izfrLFkkiu izHkko   (D) mi;qDrZ lHkh  

Which of the following effects are analysed in Indifference 

Curve analysis ? 

(A) only price effect   (B) only income effect    

(C) only substitution effect   (D) all the above 

50- vfr vYidky esa iwfÙkZ oØ gksrk gS & 

(A) iw.kZr% ykspnkj   (B) iw.kZr% csykspnkj 

(C) ykspnkj    (D) buesa ls dksbZ ugha 

In very short period, supply curve is - 

(A) Perfectly Elastic  (B) Perfectly Inelastic 

(C) Elastic    (D) None of these  

51- fdl cktkj Lo:Ik esa lalk/ku dk lcls vf/kd dq’ky vkoaVu gksrk gS\ 

(A) iw.kZ izfr;ksfxrk      (B) vYikf/kdkj     
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(C) ,dkf/kdkj izfr;ksfxrk   (D) ,dkf/kdkj  

Which market leads to the most efficient allocation of 

resources?  

(A) Perfect Competition    (B) Oligopoly                                          

(C) Monopolistic Competition  (D) Monopoly   

52- NDPMP = 

(A) GDPMP – f?klkoV  (B) GDPMP + f?klkoV 

(C) GDPMP + vizR;{k dj  (D) None of these 

NDPMP = 

 (A) GDPMP – Depreciation (B) GDPMP + Depreciation 

(C) GDPMP + Indirect Tax (D) None of these 

53- fdlus dher fu/kkZj.k izfØ;k esa ^le; rRo* dk fopkj izLrqr fd;k \ 

(A) okyjl    (B) ts ds esgrk 

(C) ek’kZy    (D) fjdkMksZ 

Who gave the concept of ‘Time Element’ in price determination 

process ? 

(A) Walras    (B) J. K. Mehta 

(C) Marshall    (D) Ricardo 

54- fdlh oLrq dh ekuoh; vko’;drkvksa dks larq"V djus dh {kerk gS & 

(A) miHkksx    (B) mi;ksfxrk 
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(C) xq.k     (D) :fp 

The capacity of a commodity to satisfy human wants is – 

(A) Consumption   (B) Utility 

(C) Quality    (D) Taste 

55- buesa fdudk laca/k tula[;k ds b"Vre fl}kar ls gS\ 

(A) ,p- MkYVu    (B) bZ- dsuu      

(C) dkj lkSUMlZ    (D) Vh- vkj- ekYFkl  

Who among the following is associated with the Optimum 

Theory of population? 

(A) H. Dalton     (B) E. Canon                        

(C) Carr-Saunders    (D) T.R. Malthus 

56- fuEukafdr esa ls dkSu lsch (SEBI) dk dk;Z gS\ 

(A) izkFkfed ,oa f}rh;d izfrHkwfr cktkj dk fofu;eu  

(B) lkoZtfud _.k dk fofu;eu                          

(C) oLrq cktkj dk fofu;eu 

(D) eqnzk cktkj dk fofu;eu  

Which amongst the following is the function of SEBI? 

(A) Regulation of primary or secondary security market. 

(B) Regulation of public debt.  
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(C) Regulation of commodity market. 

(D) Regulation of money market. 

57- fuEu esa ls dkSu izkFkfed {ks= esa 'kkfey gS \ 

(A) Hkwfe     (B) ou 

(C) [kuu     (D) buesa ls lHkh 

Which of the following is included in Primary sector ? 

(A) Land    (B) Forest  

(C) Mining    (D) All of these 

58- Tkc MC=AC, rks vkSlr ykxr dh <ky gksrh gS & 

(A) /kukRed         (B) _.kkRed       

(C) ’kwU;          (D) vuUr 

When MC=AC then slope of Average Cost is -  

(A) Positive     (B) Negative    

(C) Zero     (D) Infinite  

59- lkekU;r;k vk; dj fdl fl)kar ij vk/kkfjr gksrk gS\ 

    (A) ykHk izkfIr dk fl)kar   (B) dj nsus dh bPNk dk fl)kar   

(C) djnku {kerk dk fl)kar  (D) buesa ls dksbZ ughaA 

Generally on which principle Income tax is based? 

(A) Principle of Profit earning       



24 
 

(B) Principle of willingness & pay 

(C) Prinicple of Taxbale capacity    

(D) None of these  

60- fuEu esa dkSu oLrq dj gS\ 

(A) vk; dj     (B) migkj dj     

(C) laifŸk dj     (D) vfrfjDr mRikn ’kqYd 

Which of the following is commodity tax? 

(A) Income Tax    (B) Gift Tax             

(C) Wealth Tax    (D) Additional Excise duty. 

61- fduds lq>ko ds vk/kkj ij vk; dj ls laxzfgr jkf’k dsUnz }kjk jkT;ksa ds chp 

forfjr dh tkrh gS\ 

(A) uhfr vk;ksx    (B) pquko vk;ksx     

(C) foŸk vk;ksx     (D) buesa ls dksbZ ughaA 

On whose recommendation the collected amount from Income     

tax is allocated among the states by the centre? 

A. NITI Ayog             (B) Election commission     

(C) Finance commission  (D) None of these  

62- Ckktkj dh vlQyrk dk dkj.k gS & 
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(A) cktkj ’kfDr    (B) xjhch      

(C) futh oLrq,¡     (D) ckárk,¡ 

Market failure is caused by - 

(A) Market power    (B) Poverty                     

(C) Private goods     (D) Externalities 

63- Hkqxrku 'ks"k es dkSu&lh ensa lfEefyr gSa \ 

(A) n’̀; ensa    (B) vn`’; ensa 

(C) iwath vUrj.k   (D) buesa ls lHkh 

Which items are included in Balance of Payments ? 

(A) Visible items   (B) Invisible items 

(C) Capital transfer  (D) All of these 

64- vYidkyhu mRiknu dh n’kk esa ,d foosd’khy mRiknd fdl voLFkk esa 

mRiknu djuk ilUn djsxk \ 

(A) izFke voLFkk   (B) f}rh; voLFkk 

(C) rr̀h; voLFkk   (D) buesa ls dksbZ ugha 

In which stage of production a rational producer likes to produce in 

Short-Run Production? 

(A) First stage   (B) Second stage 

(C) Third stage   (D) None of these 

65- vkSlr ifjoÙkZu’khy ykxr D;k gS \ 

(A) dqy ifjoÙkZu’khy ykxr x mRikn 
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(B) dqy ifjoÙkZu’khy ykxr $ mRikn 

(C) dqy ifjorZu’khy ykxr & mRikn 

(D) dqy ifjoÙkZu’khy ykxr  mRikn 

What is Average variable cost ? 

(A) Total variable cost x Qauntity 

(B) Total variable cost + Quantity 

(C) Total variable cost – Quantity 

(D) Total variable cost   Quantity 

66- Je&ek¡x oØ esa okekorhZ fopyu dk dkj.k gksrk gS & 

(A) etnwjh nj esa deh  

(B) etnwjh nj esa o`f)  

(C) Je dh lhekUr mRikndrk esa òf)  

(D) Je dh lhekUr mRikndrk esa deh 

A leftward shift in labour demand curve is caused by- 

A. Decrease in wage rate  

B. Increase in wage rate  

C. Increase in marginal productivity of labour. 

D. Decrease in marginal productivity of labour. 

67- ,d vFkZO;oLFkk esa mRiknu lalk/kuksa dk LokfeRo fdl {ks= ds v/khu gksrk gS\  

(A) oká {ks=     (B) ifjokj {ks=     
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(C) mRiknu {ks=    (D) ljdkjh {ks=  

With which of the sectors the ownership of factors of 

production lies in an economy ? 

(A) External Sector   (B) Household sector            

(C) Production sector   (D) Government sector  

68- Hkqxrku 'ks"k dk ?kVd gS & 

(A) pkyw [kkrk    (B) iwath [kkrk 

(C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

The component of Balance of payment is – 

(A) Current Account  (B) Capital Account 

(C) (A) and (B) both  (D) None of these 

69- fdl ewY; ij okLrkfod ldy ?kjsyw mRikn ekik tkrk gS\ 

(A) vk/kkj o"kZ dherksa ij   (B) orZeku dherksa ij    

(C) fLFkj dherksa ij     (D) (A) vkSj (B) nksuksa 

At what price real GDP is measured?  

(A) At base year prices   (B) At current prices           

(C) At constant prices   (D) (A) and (B) both  

70- ,d e/;oŸkhZ oLrq ds :Ik esa eqnzk us fdl izfØ;k dks ljy dj fn;k gS\ 

(A) ewY; lap;    (B) ewY; ekiu     

(C) ysu&*nsu ¼fofue;½   (D) buesa ls lHkh  
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Money as an intermediary good has made which process 

simpler? 

A. Store of value   (B) Measurement of price            

(C) Exchange    (D) All of these. 

71- fuEukafdr esa ls fdu dkj.kksa ds pyrs mRiknu laHkkouk oØ dh <+ky urksnj 

gksrh gS\ 

(A) leku volj ykxr   (B) âkleku volj ykxr        

(C) _.kkRed volj ykxr   (D) c<+rh volj ykxr  

Due to which of following reason the slope of production 

possibility curve is concave ? 

(A) Constant opportunity cost 

(B) Decreasing opportunity cost 

(C) Negative opportunity cost 

(D) Increasing opportunity cost 

72- ^^,d vFkZ’kkL=h dk dk;Z fo’ys"k.k djuk gS] funku djuk ughaA** & ;g fdudk 

dFku gS\ 

(A) ek’kZy     (B) jkWfcUl      

(C) lhfu;j     (D) dhUl 
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“The role of an economist is to analyse not to prescribe”. 

Whose statement is this? 

(A) Marshall       (B) Robbins             

(C) Senior     (D) Keynes 

73- fdl fLFkfr esa mRifÙk lerk fu;e fØ;k’khy gksrh gS & 

(A) MP > AP     (B) MP < AP     

(C) MP = AP     (D) TP = AP 

At which situation Law of Constant return is in operation ? 

(A) MP > AP    (B) MP < AP               

(C) MP = AP    (D) TP = AP 

74- vFkZO;oLFkk esa nqyZHkrk dh leL;k dk dkj.k gS & 

(A) vlhfer lalk/ku   (B) lhfer lalk/ku            

(C) i;kZIr lalk/ku    (D) buesa ls dksbZ ughaA 

The cause of problem of scarcity in the ecomony is - 

(A) Unlimited resources  (B) Limited resources               

(C) Sufficient resources  (D) None of these. 

75- vk/kqfud vFkZ’kkfL=;ksa ds vuqlkj mRiknu ds lk/kuksa dk ikfjJfed fuEukafdr esa 

ls fdl ij fuHkZj djrk gS\ 

(A) lk/ku dh ek¡x    (B) lk/ku dh iwfrZ          
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(C) lk/ku dh ek¡x ,oa iwfrZ  (D) lk/ku dh lhekUr mRikndrkA 

According to modern economists the remuneration of factor of 

production depends on which of the following? 

(A) Demand of the factor  

(B)  Supply of factor  

(C)  Demand and Supply of factor   

(D)  Marginal productivity of factor. 

76- fdl o"kZ vFkZ’kkL= dk v/;;u ^^ekbØks vFkZ’kkL=** vkSj ^^eSØks vFkZ’kkL=** esa 

foHkDr gqvk\ 

(A) 1930     (B) 1931       

(C) 1935     (D) 1936 

In which year the study of Economics was divided between 

Micro Economics and Macro Economics? 

(A) 1930     (B) 1931      

(C) 1935     (D) 1936 

77- fo’o O;kih egku eanh dc gqbZ\ 

(A) 1925    (B) 1929&39      

(C) 1935     (D) 1946 

When did the global great depression take place? 
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(A) 1925    (B) 1929 & 39      

(C) 1935     (D) 1946   

78- ,d fefJr vFkZO;oLFkk dh dsUnzh; leL;kvksa dk lek/kku fdlds }kjk gksrk gS\ 

  (A) ewY; fu;a=.k    (B) cktkj ra=     

 (C) ;kstuk ra=    (D) mi;ZqDr lHkh 

By which of the following the central problems of a mixed 

economy is resolved ? 

(A) Price control    (B) Market mechanism           

(C) Planning mechanism  (D) All of the above. 

79- fuEu esa ls fdlesa dqN vkxrsa fLFkj jgrh gSa \ 

  (A) nh?kZdky esa    (B) vYidky     

 (C) (A) vkSj (B) nksuksa  (D) buesa ls dksbZ ughaA 

In which of the following few inputs remain fixed? 

(A) In the Long run   (B) In the short run                  

(C) (A) and (B) both  (D) None of these 

80- fuEukafdr esa ls dkSu la;ksx iwjd oLrqvksa dk gS\ 

(A) pk; vkSj dkWQh             (B) dye vkSj L;kgh               

(C) jksVh vkSj pkoy         (D) buesa ls dksbZ ughaA 
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Which of the following is the combination of complementary 

goods? 

(A) Tea and Coffee              (B) Pen and Ink                   

(C) Bread and Rice     (D) None of these 

81- fuEukafdr la;ksx esa ls LFkkukiUu oLrq,¡ dkSu gS \ 

(A) czsM ,oa eD[ku         (B) ljlksa rsy vkSj fjQkbUM rsy   

(C) jksVh&nky            (D) dqlhZ vkSj Vscqy  

Which of following is the combination of Substitute goods?  

(A) Bread and Butter   (B) Mustard oil and Refined oil  

(C) Bread and Pulse   (D) Chair and Table  

82- fuEukafdr esa dkSu ek¡x&oØ iw.kZr;k csykspnkj gksrk gS\ 

(A) m/okZ/kj ek¡x oØ     

(B) jSf[kd ek¡x oØ     

(C) vk;rkdkj vfrijoy; ek¡x oØ   

(D) buesa ls lHkh 

Which of following demand curve is perfectly inelastic? 

(A) Vertical demand curve 

(B)  Straight line demand curve 

(C) Rectangular hyperbola demand curve  
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(D) All of these. 

83- vxj vkSlr vkxe (AR) vkSj vkSlr ykxr (AC) cjkcj (AR=AC) gksa rks fdl 

izdkj dh fLFkfr jgrh gS\ 

 (A) lkekU; ykHk    (B) gkfu     

 (C) vf/klkekU; ykHk   (D) buesa ls dksbZ ughaA 

What kind of situation exists when Average Revenue (AR) and 

Average cost (AC) are equal (AR = AC)? 

(A) Normal profit    (B) Loss            

(C) Super normal profit  (D) None of these 

84- fuEukafdr esa ls dkSu fu;e d`f"k esa ykxw gksrk gS\ 

 (A) mRifŸk òf) fu;e   (B) mRifŸk lerk fu;e   

 (C) mRifŸk gzkl fu;e   (D) buesa ls dksbZ ughaA  

Which of the following law is applicable in agriculture? 

(A) Law of Increasing Returns  

(B) Law of Constant Returns 

(C) Law of Diminishing Returns  

(D) None of these 

85- HkkSfrd vknkvksa (Inputs) rFkk iznkvksa (outputs) ds Qyuh; laca/k dks D;k 

dgrs gSa\ 
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(A) miHkksx Qyu    (B) mRiknu Qyu    

(C) (A) vkSj (B) nksuksa    (D) buesa ls dksbZ ughaA 

What is functional relationship between physical inputs and 

physical outputs called ? 

(A) Consumption function  (B) Production function         

(C) (A) and (B) both  (D) None of these 

86- **larqyu og fLFkfr gS ftlesa xfr dh ‘’kq) izo`fŸk u gks** fuEukafdr esa ls 

fdudk dFku gS\ 

(A) cksfYMax     (B) fLVxyj     

(C) ek’kZy     (D) fgDl  

“An equilibrium is a position from which these is no net 

tendency to move.” Whose statement is this ? 

(A) Boulding    (B) Stigler  

(C) Marshall    (D) Hicks. 

87- oLrq dh ,d vfrfjDr bdkbZ dks cspus ls tks dqy vkxe esa o`f) gksrh gS mls  

dgrs gSa & 

(A) vkSlr vkxe (AR)   (B) lhekUr vkxe    

(C) (A)  vkSj (B) nksuksa   (D) buesa ls dksbZ ughaA  
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An increase in the total Revenue (TR) due to the sale of an 

additional unit of the commodity is called -  

(A) Average Revenue (AR)  (B) Marginal Revenue (MR)  

(C) (A) and (B) both  (D) None of these  

88- eqnzk dk dkSu dk;Z xkS.k dk;Z gS\ 

(A) fofu;e dk ek/;e   (B) ewY; dk ekid          

(C) rjy lk/ku    (D) LFkfxr Hkqxrku 

Which is the secondary function of money ? 

(A) Medium of exchange  (B) Measure of value           

(C) Liquid Asset    (D) Deferred payment. 

89- ^^eqnzk og gS tks eqnzk dk dk;Z djsA** ;g fdlus dgk gS\ 

  (A) gkVZys fonlZ    (B) okdj     

 (C) ØkmFkj     (D) dhUl  

“Money is what money does”. Who has stated this? 

(A) Hartley Withers   (B) Walker              

(C) Crowther    (D) Keynes. 

90- ^^ eqnzk og /kqjh gS ftlds vklikl vFkZ foKku pDdj yxkrk gSA** ;g fdldk 

dFku gS\ 
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  (A) gkVZys fonlZ    (B) ,Q- ,- okdj     

 (C) ,l- bZ- Fkkel    (D) ek’kZy 

“Money is the pivot around which the economic science 

clusters.” Whose statement is this? 

(A) Hartley Withers   (B) F. A. Walker              

(C) S. E. Thomas             (D) Marshall. 

91- fuEukafdr esa dkSu dsUnzh; cSad }kjk lk[k fu;a=.k dh xq.kkRed fof/k ugha gS\ 

(A) lk[k dh jk’kfuax     (B) izR;{k dk;Zokgh 

(C) oS/kkfud dks"kkuqikr esa (SLR) ifjorZu  (D) uSfrd ncko 

Which of the following is not the qualitative method of credit 

control of Central Bank? 

(A) Rationing of credit    

(B)  Direct Action 

(C) Changes in Statutory Liquidity (SLR) 

(D) Morel Suasion 

92- Hkkjr esa fuEukafdr esa ls dkSu lHkh cSdksa dk cSad gSa\ 

(A) LVsV cSad vkWQ bf.M;k  (B) dsujk cSad     

 (C) Hkkjrh; fjtoZ cSad   (D) vkbZlhvkbZlhvkbZ cSad 

Which of the following is Banker’s Bank? 
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(A) State Bank of India  (B) Canara Bank 

(C) Reserve Bank of India (D) ICICI Bank 

93- Hkkjr esa dkSu lh vFkZO;oLFkk fo|eku gS \ 

(A) lektoknh vFkZO;oLFkk  (B) iw¡thoknh vFkZO;oLFkk 

(C) lkE;oknh vFkZO;oLFkk  (D) fefJr vFkZO;oLFkk 

In India which kind of economy exists ? 

(A) Socialistic economy  (B) Capitalist economy 

(C) Communist economy (D) Mixed economy 

94- fuEukafdr esa ls dkSu vkfFkZd iz.kkyh dk vk/kkj gS \ 

(A) laLFkkxr vk/kkj   (B) oSpkfjd vk/kkj 

(C) rduhdh vk/kkj   (D) mi;qZDr lHkh 

Which one of the following is basis of an economic system ? 

(A) Institutional basis  (B) Ideological basis 

(C) Technological basis  (D) All the above 

95- fduds vuqlkj tula[;k o`f) dk vk/kkj T;kfefrd Øe 1] 2] 4] 8] 16] 32] 64] 

128 ----------- gS\ 

(A) ,Me fLeFk    (B) tsoUl 

(C) ekYFkl    (D) fjdkMksZ 
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According to whom the basis of population growth is geometrical 

progression i.e. 1, 2, 4, 8, 16, 32, 64, 128, …………? 

(A) Adam Smith   (B) Jevons 

(C) Malthus    (D) Ricardo 

96- ^^vuqdwyre tula[;k og gksrh gS tks izfr O;fDr vf/kdre vk; iznku djsA** 

fdlus dgk gS \ 

(A) jkWfcUl    (B) ekYFkl 

(C) MkWYVu    (D) ,Me fLeFk 

“Optimum population is that population which gives the maximum 

income per head”, Who has started? 

(A) Robbins    (B) Malthus 

(C) Dalton    (D) Adam Smith 

97- fuEukafdr esa ls dkSu Li"V ykxrsa gSa \ 

(A) dPps eky ij O;;    

(B) foKkiu] chek vkSj djksa ds Hkqxrku ij O;; 

(C) Jfedksa dh etnwjh 

(D) buesa ls lHkh 

Which of following consist of Explicit cost ? 

(A) Expenses over raw-material 

(B) Expenses over advertisement, insurance and payment 

(C) Payment of wages to workers 
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(D) All of these 

98- fuos’k xq.kd dh vo/kkj.kk fdlus izLrqr fd;k \ 

(A) vkj0 ,Q0 dkgu   (B) dhUl 

(C) gSjksM    (D) Mksej 

Who presented the concept of Investment multiplier ? 

(A) R. F. Kahn   (B) Keynes 

(C) Harrod    (D) Domar 

99- nh?kZdky esa ge lHkh ej tkrs gSaA** fdldk dFku gS \ 

(A) gk;sd    (B) gSjksM 

(C) dhUl    (D) ekYFkl 

“In the long run we all are dead”. Whose statement is this ? 

(A) Hayek    (B) Harrod 

(C) Keynes    (D) Malthus 

100- fdlus dgk] ^^iwfÙkZ viuh ek¡x dh lajpuk Lo;a djrh gSA**  

(A) ,Me fLeFk    (B) ts0 ch0 ls 

(C) tsoUl    (D) ek’kZy 

Who has stated, “Supply creates its own demand” ? 

(A) Adam Smith   (B) J. B. Say 

(C) Jevons    (D) Marshall 
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 Section-B

Short Answer Type Questions½

iz’u la[;k 1 ls 30 y?kq mÙkjh; gSaA fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 2 

vad fu/kkZfjr gSA izR;sd mÙkj 40&50 'kCnksa esa fy[ksaA      (15x2=30) 

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks. Write answers in 40-50 words each.  

           (15x2=30) 

1- O;kid vFkZ’kkL= D;k gS \ 

What is Macroeconomics ? 

2- volj ykxr D;k gS \ 

What  is opportunity cost ? 

3- lhekUr mi;ksfxrk âkl fu;e fdu ekU;rkvksa ij vk/kkfjr gS \ 

What are the assumptions of law of diminishing marginal utility ? 

4- Lke lhekUr mi;ksfxrk fu;e D;k gS \ 

What is law of Equi-marginal utility ? 

5- lhekUr mi;ksfxrk vkSj vkSlr mi;ksfxrk esa D;k varj gS \ 

What is the distinction between Marginal utility and Average utility? 

6- ekax vuqlwph D;k gS \ 

What is Demand schedule  ? 

7- ekax dh js[kk uhps dh vksj nkfguh rjQ D;ksa >qdh jgrh gS \ 

Why Demand curve slopes downwards to the right ? 
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8- vYidkyhu mRiknu Qyu ls vki D;k le>rs gSa \ 

What do you mean by short run production function ? 

9- jkstxkj xq.kd D;k gS \ 

What is employment multiplier ? 

10- iwfrZ ds dkSu&2 fu/kkZjd gSa \ 

What are the determinants of supply ? 

11- iwfrZ yksp D;k gS \ 

What is elasticity of supply ? 

12- lhekUr vkxe D;k gS \ 

What is Marginal Revenue ? 

13- ykHk dc vf/kdre gksrk gS \ 

When is profit maximum ? 

14- izeq[k ykxr vkSj vuqiwjd ykxr esa varj Li"V djs \ 

Distinguish between prime cost and supplementary cost ? 

15- ekSfnzd ykxr D;k gS \ 

What is money cost ? 

16- lkE; ewY; D;k gS \ 

What is equilibrium price ? 

17- cktkj ds dkSu&dkSu :i gSa \ 

What  are different forms of market  ? 

18- ,dkf/kdkj dh eq[; fo’ks"krkvksa dks crkb;s A 
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Mention the main features of Monopoly ? 

19- fefJr vFkZO;oLFkk ds rhu y{k.kksa dks fy[ksa A 

Write the three characteristics of mixed economy ? 

20- miHkksX; vk; dks le>kkb;s A 

Explain disposable income . 

21- GDP vkSj NNP a esa varj crkb;s A 

Mention the difference between GDP and NNP  ? 

22- jk"Vªh; vk; ekius dh O;; fof/k D;k gS \ 

What is the expenditure method of measurement of National 

income ? 

23- Lora= pj D;k gS \ 

What is independent variable ? 

24- lkewfgd ek¡x&Qyu ls vki D;k le>rs gSa \ 

What do you mean by aggregate demand function ? 

25- cpr izo`fŸk D;k gS \ 

What is propensity to save ? 

26- th,lVh D;k gS \ 

What is GST ? 

27- vizR;{k dj dk lksnkgj.k o.kZu djs A 

Discuss indirect  tax with example ? 

28- O;kolkf;d cSad ds nks izeq[k dk;ksZa dk o.kZu djsa A 
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Discuss any two functions of commercial  bank ? 

29- eqnzk LQhfr dh cqjkb;ksa dk mYys[k djsa A  

State the evils of inflation . 

30- Hkqxrku larqyu D;k gS \ 

What is balance of payment ? 

Long Answer Type Questions

iz’u la[;k 31 ls 38 nh?kZ mÙkjh; iz’u gSaA fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd ds fy, 5 

vad fu/kkZfjr gSaA izR;sd mÙkj 100&120 'kCnksa esa fy[ksaA    (4x5=20) 

Question no. 31 to 38 are Long answer type . Answer any 4 questions. Each 

question carries 5 marks. Write answers in 100-120 words each.  (4x5=20) 

31- lef"V ,oa O;f"V vFkZ’kkL= esa varj Li"V djsa A 

Distinguish between Macro and Micro economics. 

32- Ekkax ds fu;e dh O;k[;k djsas A 

Explain Law of Demand . 

33- mRiknu Qyu dh eq[; fo’ks"rkvksa dk o.kZu djsaA  

Discuss main  characteristics of Production Function ? 

34- dsUnzh; cSad lk[k dk fu;a=.k dSls djrs gSa \ 

How does Central Bank control credit ? 

35- Hkqxrku larqyu vkSj O;kikj larqyu esa varj crkb;s A 

Distinguish between Balance of Payment and Balance of  Trade. 

36- izR;{k vkSj vizR;{k dj esa varj Li"V djsa A 
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Distinguish between Direct and Indirect Tax . 

37- ,dkf/kdkj dh D;k fo’ks"krk,¡ gSa \ 

What are the characteristics of Monopoly ? 

38- ^eqnzk ,d vPNh lsfodk fdUrq cqjh Lokfeuh gSA* O;k[;k djsa A 

“Money is a good servant  but  a bad master .” Explain . 


